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PRE-CALCULUS 11
RATIONAL EXPRESSIONS
SIMPLIFYING RATIONAL EXPRESSIONS PART 2

A. Definitions
1. rational expression: an algebra expression that can be written in the form of a fraction.

2. non-permissible values (undefined value): values that make the denominator of the
fraction zero.

B. Examples

1) Determine the non-permissible values and simplify the following.
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Assignment:  Simplifying Rational Expressions Assignment#4, 5,7, 8, 9, 10, 11
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Rational Exprossion Lesson #1: Simplifying Rational Expressions Part One 591
4. Determine the nonpermissible values of the variable.
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5. Express in simpiest form stating the nonpermissible valucs of the variable.
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6. The area of a soccer field is represented by a® — 12a + 32 square metres.
) Find a simplified expression for the length of the field if the width can be represented

by a— 8 metres.

b) Calculate the area of the field if a = 90.
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592  Rational Expression Lesson #1: Simpiifying Rational Exprersions Part One
7. Reduce to lowest terms stating the restrictions on the variable.
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Rational Expression Lesson #1: Simplifying Rational Expreasions Part One ‘m

10. In the rational expression a(a+37) ﬁnwpunﬂnﬂﬂnvﬁn(l)dan
A. 3,7
B. 0,3, -7
C. 0, -7
D. -7

R

(Recard your snswer in the numerical response box from left to right) [D:[:'
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The rational expressions ~, RPN and 422 have one nonpermissible

value in common.
To the nearest tenth, this nonpermissible value is ___
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